Solved Problem
CPM/PERT Network Analysis
Given the following network and activity time estimates, determine earliest and latest activity times, slack, the expected project completion time and variance, and the probability that the project will be completed in 28 days or less. 
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Solution:
Step 1. Compute the expected activity times and variances: 
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For example, the expected time and variance for activity 1-2 are 

[image: image3.png]



These values and the remaining expected times and variances for each activity are shown in the following table: 
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Step 2. Determine the earliest and latest activity times and activity slack: 
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As an example, the earliest start and finish times for activity 1-2 are 
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The latest start and finish times for activity 4-5 are 
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Step 3. Identify the critical path and compute expected project completion time and variance. Observing the preceding table and those activities with no slack (i.e., s = 0), we can identify the critical path as 1-2-3-4-5. The expected project completion time (tp) is 24 days. The variance is computed by summing the variances for the activities in the critical path: 
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Step 4. Determine the probability that the project will be completed in 28 days or less. The following normal probability distribution describes the probability analysis. 
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Compute Z using the following formula: 
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The corresponding probability from the normal table in Appendix A is 0.4633; thus, 
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